(% &w& ? vier breuken, decimalen, volgorde van bewerkingen
= 4 N met haakjes

Naam: Datum: Score:

(5,3+4)x2—-3,4=

9(5,4—3,8)+3x2+

W] ==

3 1 1 B _
Zx25+5+5(=— )= 4,6 x 10+2+5(3,3+3,3)
2 2 4
1X8*4—4(2 5—1)— 1+4(5 8+5,9) =
4 ' ? 5 3 s s
2 1

5,4—2(3—§)= 2,9+4(6+4,6)=

1 4Ty - _
5,7><4+2+2(§—5,2): 8(5,4—4,7)+4%x2+4,8
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& j @ ? vier breuken, decimalen, volgorde van bewerkingen
@ . met haakjes

Naam: Datum: Score:
9(5,4—3,8)+3><2+%=11;459-=9% (5,3+4)><2—3,4=75_6:15%
%x25+5+5(%_%):34_5:8% 4,6 x 10+2+5(3,3+3,3)= 56
§X854-40,5- 9= (30 = (-8 a8 s9) = a2
5.4-26- )~ & 29440k 146 = 0 =012
5,7x4+2+2(%—5,2)=§= 1% 8(5,4—4,7)+4><2+4,8=3—58-=7§
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